% £ = F:N Subtraksjon (subtrahering 2)
StudentName: ExamDate: _____ ExamScore: ____
ST2= T-2= 6—-2= 59 =

3-2= 9-2= 10-2= §—2 =

10-2= 3-2-= 89— 7y =

9-2= 5-2= 3-2= g -9 =

3727 4-2= 5-2= 10-2=

7-2= 3-2= 10-2= 79 =

6-2= 10-2= 8§-2= 3-2=

S-2= 9-2= 6-2= 790 =

9-2= 10-2= g§-2= 6—2 =

10-2= 6-2= 3-2= 4-7 =

3-2= 10-2= 5-2= 3-2=

S-2= 4-2= 9-2= 4 -9 =

3-2= Q-2 =
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Subtraksjon (subtrahering 2)

StudentName:

ExamDate: ExamScore: _____
6-2=4 5-2=3
10-2=28 8—2=6
8—2=6 7-2=5
3-2=1 8—2=6
5-2=3 10-2=38
10-2=28 7-2=5
8—2=6 3-2=1
6-2=4 7-2=5
8—2=6 6-2=4
3-2=1 4-2=2
5-2=3 3-2=1
9-2=7 4-2=2
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